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import matplotlib.pyplot as plt

kansen=[556,392,563,748,888,884,949,708,481,856,944,1337,783,814,816,884,1278]
helkin= [Il_ll,ll_lllll_ll]

r=list()

for i in range(0,9,1):
goukei=

heikin.append(goukei//7)
print(r)

plt.plot(r)
plt.show()
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import matplotlib.pyplot as plt

kansen=[556,392,563,748,888,884,949,708,481,856,944,1337,783,814,816,884,1278]
heikin= [ll_ll’"_lllll_ll]

r=list()

for i in range(0,9,1):

goukei=kansen[i]+kansen[i+1]+kansen[i+2]+kansen[i+3]
+kansen[i+4]+kansen[i+5]+kansen[i+6]

heikin.append(goukei//7)
r.append(kansen[i+8]/heikin[i+3])

print(r)

plt.plot(r)

plt.show()
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import matplotlib.pyplot as plt

kansen=[856,944,1337,783,814,816,884,1278]

heikin=["-","-""-"]

F=

for i in range(0,60,1):
goukei=kansen[i]+kansen[i+1]+kansen[i+2]+kansen[i+3]+kansen[i+4]+kansen[i+5]+kansen[i+6]
heikin.append(goukei//7)

print(kansen)
plt.plot(kansen)
plt.show()
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import matplotlib.pyplot as plt

kansen=[856,944,1337,783,814,816,884,1278]

heikin=["-""-""-"]

r=1.1

for i in range(0,60,1):
goukei=kansen[i]+kansen[i+1]+kansen[i+2]+kansen[i+3]+kansen[i+4]+kansen[i+5]+kansen[i+6]
heikin.append(goukei//7)
kansen.append(int(heikin[i+3]*r))

print(kansen)

plt.plot(kansen)

plt.show()
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